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Answer all questions in the spaces provided.

Question 1 is about clothes for children.
1 Study the child’s coat shown on the insert sheet.

(a) List three features which make this a fashionable coat for a child.

L ettt ettt a et et e eh e et e bt ea e en e et e bt eatea s e st Rt ene et e bt eeeentenb e st eneenteseeneeneenes
2 ettt ettt tetete et et e te bttt et b e st ant et et e s e ent e beeheeaten b e s e st estense st ant e st e seeseentenseeseeseensensenseennenes
B e e ettt eh et eheeh et et bt eh e et ekt h e e a £ e bt eh e n e et e bt eh e et e bt eheen e et e bt eneentebeeneentenee
(3 marks)
(b) (i) The outer fabric of the coat is made from cotton.
Explain two properties of cotton which make it suitable for this coat.
L ettt ettt h ettt e h e e n e et e e bt e h e et e bt e bt en e e teeteent e tenteeneennens
2 ettt — e tete et et e te ettt et et ehtaateate st st et e st st enten b e st esten s e se st e st enseeseentensenseereennans
(4 marks)
(ii)) Explain one disadvantage of making this coat from a cotton fabric.
(2 marks)
(c) Explain three ways in which this coat has been designed to keep a child warm.
OSSOSO
2 ettt eete e teteteete et e te bttt et ebe bt st e teteeheentenbeaheeatentense st estente st entens e seeseentenseeteeseensenseeseennenes
USSP
(6 marks)

S05/3563F

LEAVE
MARGIN
BLANK



3 LEAVE
MARGIN
BLANK

(d) (1) Name one finish which could be applied to the outer fabric of the coat.

(1 mark)

(i) Explain one reason why you think that this finish is needed.
(2 marks)

(e) The symbols below are from a care label like the one that is on the coat.
Explain what each of the symbols mean.

(1) - ...................................................................................................................
HEEEEE = ciecesccesccecccescerccerccerccercceresereterceseseseseresereseecrecerecertcerecereteretereterctteseraseraseretnre
(2 marks)
(ii) ﬁ ...................................................................................................................
(1 mark)
(1) BSGUTE oottt ettt
(1 mark)

TURN OVER FOR THE NEXT QUESTION

Turn over P
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Question 2 is about making a skirt.

2 The skirt shown below is to be made at home.
A medium weight cotton denim fabric is to be used.

(@) (1) The skirt is to have an added decoration to make it more fashionable.
On the diagram of the skirt below, show your design for the decoration.

I == |

)

|

[T J

LI

Front view Back view (3 marks)

(il)) Name the technique you would choose for the decoration.

(1 mark)
(iii)) Give two reasons why you have chosen this technique.
L ettt bbbt bt a et e h e e bt et et bt ea b et e bt st et et bt ennen
2 ettt e teteeateteateeteeateteateesteate st st ent e te st ent et ebeeseententeseententense st et enteeseentensenteereentans
(2 marks)
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(b) The diagram below shows the main pattern pieces for the skirt.
(i) Write each of the words given below in the correct box on the diagrams.
Place to fold line Seam line Front Dart

Straight grain line Cutting line Notch Back

. |
- [ \
v y
4 \
\ .
L] 1
) i
!
1
]
i
!
e ,
1
T

(8 marks)

(ii)) Explain why it is important to follow the straight grain line when placing the pattern on
the fabric.

(2 marks)
(c) Before starting to sew the skirt the machine stitch will need to be tested.
List two things about the stitch that need to be checked.
L ettt h ettt ea et et e eh e e et et e he et e ne e Rt e Rt en s et e eheen s et e bt ententeeneeneeneenes
2 et et e ete e teteeteeaeeteteateanteteteeatentete st estente bt eheentente st enten s e se st entense st ent et e seeseentenseseeneensenes
(2 marks)

QUESTION 2 CONTINUES ON THE NEXT PAGE

Turn over P
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(d) The seam shown below could be used to sew the sides of the skirt.

wrong
side

(1) NAME OF SCAIM ...ttt ettt et ettt s et e s bt eseeseebe e st eneenseaseeneenean

(i1) This seam will need to be neatened.
On the diagram show and name two different ways of neatening the seam edges.
(2 marks)

(i) Give two reasons why this would be a good seam to use for a skirt.

(2 marks)

(e) The back pocket is shown below.

(i) Give two reasons why there is a double layer of fabric at the top of the pocket.

(2 marks)

(il)) Give two reasons for using two rows of stitching to sew the pocket to the skirt.

(2 marks)
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(i) Explain how to turn a corner when stitching the pocket to the skirt.

(4 marks)
(f) Look at the stitching on the pocket below.
Explain how to make sure that:
(i) the stitched lines are straight;
(2 marks)
(i1) the top edge is secure.
(2 marks)
(g) Give two reasons why the waistband of the skirt will need to be interfaced.
L bt h bbb bttt h bt b et st h et b ettt b ettt et ebe et
2 ettt et a R et e h e et R e et a b e st a bt a et et nesa e a et neene e
(2 marks)

Turn over P
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Question 3 is about tools and equipment.

3 The equipment shown below is available for home sewing.
Give the information required about each item.

(a)
(1) NAINC oottt et e eaee e eareeeareeens
(1 mark)
(i1))  Two uses for this item are:
L et r e ere et b eae e s e
2 ettt bttt h ettt h et b e bttt
(2 marks)
(b) ~S——Tf
(1) INAITIC .oiiiiieiiieciee ettt ettt et e et e e et e e e beeeteeesateesaeesseessseessseeansaeensaeensseenssaensseas
(1 mark)
(i1) Two uses for this item are:
L ettt e a e bttt et ettt en e et e bt ehe et e teeae st et e eneeneeneennenne
2 ettt te ettt te st ettt e te et e ante b e eteea e et e b e e st ent e teeseentenseeteeatentenseeseeneensenns
(2 marks)
(iii) Discuss the care needed when using this item of equipment.
(3 marks)

S05/3563F
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(¢) The machine needle might break when stitching.
Give two reasons why.

(2 marks)
(d) Modern sewing machines can do a wide range of stitches and tasks other than straight stitching.

Describe four different jobs or stitches that a modern machine can do.
Explain how each would be useful when making clothes or home furnishings.

(12 marks)

(e) Give five checks that should be made regularly to make sure that a sewing machine always
works well.

(5 marks)

Turn over P
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Question 4 is about the consumer.

4 Clothing can be bought from many different places.
Give two advantages and two disadvantages of buying clothes in each of the following ways:

(a) from a chain store;

Advantages:

(2 marks)
(b) using the Internet;

Advantages:

(2 marks)
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(c) from a market stall.

Advantages:

(2 marks)

END OF QUESTIONS
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